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Note: Answer all the questlons Choose the correct answer 12x1 12
1) A convex lens forms a real, d|m|n|shed pomt sized image at focus. Then
the: position of the ob]ect is At B

a) focus b)infinity .~ ¢) at 2f ' d) between fand 2f ‘
- 2) Consider the followmg house hold appliances are powered by the 240V mains
~ supply. Which appliance has the greatest electrical resrstance’ '

a) 3KW heater - ~ " b) 1KW iron box
| ~ ©)100Welectricfan. -~ d)60W electeric bulb
| 3) _isotope is used for the treatment: of cancer.”
a) RadioIodine  'b) Radlo Cobalt c) Radio Carbon d) Radio Nlckel :
4) The volume occupled by 1 mole of diatomic gas at S.TP is K
- -a) 11.2litre b) 5.6litre. ) 22.4litre  d) 44. 8I|tre '
'5) 'When pressure is. mcreased at constant temperature the solublllty of
gases in liquid - % i i
~a) no change . b)) mcreases ) decreases ' d) no reactlon -

. 6) The IUPAC name of an organic. compound |s 3 methyl butan 1-ol. What ;
type of compound it is?

- a) Aidehyde b)) CarboXyllc Acnd c) Ketone ; d) Alcohol
~7) The endarch condltlon is the chracterlstlc feature of '_ e
* a) root - 'b) stem - " . ) leaves: . " d) flower ‘

-8) In an healthy adult durlng normal restlng condltlon systollc and dlastollc |
blood " pressure is ‘expressed e X
a) 80mm Hg/120mmHg . b) 90mm Hg/140mm Hg
c) 120mm Hg/80mm 5, G d) 140mm Hg/90mm Hg - 5
9) Which' nervous band connects the two cerebral hemispheres of bra|n7
. a)thalamus -~ b) hypothalamus c) corpus callosum d) pons
- 10) Anemophilous flowers have ;
a) Sessilestigma - " b) Small smooth stlgma :
c) Colored flower - d) Large feathery stlgma
11) Okasaki fragments are joined together by B
a) Helicase = b) DNA Polymerase c)RNA Prlmer d) DNA llgase
12) Pusa Komal is a disease resistant variety of '
a) Sugarcane b) rice S €) cow pea 20 d) malze
: Part - b o Al '
II. %rgwer any 7of the followmg Questlon 22 is compulsory 7x2 14
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State Newton's Second law. .

why are traffic signals red in. colour7

1% hat is rust? Give the equation for formatlon of rust?
| - 16) Give any two uses of Ethanol .

| 17) Define: Triple fusion.
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.IB{Q Why ‘is RIChEEEHEEHR Considered tobe a coléthR iR (@menmy o )
19) What is meatastasis? ,
‘20" Name two maize hybrids nch in amino acnd Iysme
21) What is Scratch? ~ -
22)" Light rays travel from vaccum into a glass whose refractive index is 1.5.
If the angle of incidence is 300, Calculate the: angle of refractlon inside
the glass. - . -
: . Part-IIT .
II. Answer any 7 of the following. Question 32 is compulsory 7x4—28
23Y Differentiate Mass and Weight. , _
~ 24) a) State Boyle's law. -
oo b) Distinguish between ideal gas and real gas
" 5)'1’ a) State Ohm's law .
» b)"How does a fuse wire protect electrlcal apphcances? |
) 26) What are the factors that affect the speed of sound in" gases7 '
c 27) In what way hygroscoplc substances differ from deliquescent substances
O 28)7a) What is neutralization reaction? Give' an example. _
b) Can a nickel spatula be used to Stll‘ copper sulphate solutnon? Justlfy |
~your answer.. - . ~ g
29) a)“Wnte the equatlon for photosynthesns 4 B L
b) Differentiate: Aerobic and Anaerobic respiration.” ¢
30)/ What are the phases’ of menstrual cycle7 Indlcate the charges |n the
. ovary and uterus. :
i 31) a) What is the role of Parathormone?
: b) What are the advantages of- usmg blogas?
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2 32y Calculate the number of moles in, s
= N-27g of A o )L 51x1023._molecules of NH,Cl.
‘ Part -1V .

-gl Answer all the questlon Drawdlagrams Wherever necessary 3x7-21

¢ 33y 8)7)” Listany five: pro/pertles of light. . . .
;i) Give any two uses of convex lens. . [or]
b) )y State two conditions necessary for heanng an'echo e '
) Describe rocket propulsion. ‘ :
i) Convert 1 kwh electrlc power to ]oule -
34) a) i) Give the salient features of "Modern Atomic Theory"?
" State the reason for addntion of caustlc alkall to bauxite ore during
- purificatin of bauxite. .~ ~ [or]
b) iy” Calcylate the P" of 1. 0x104 molar solutlon of HNO,.
) How is ethanol manufactured from sugarcane? :
35) a) ) Write a short note. on mesophyll. ki
{i) Enumerate the functions of blood. o [or]
bY §? Why did Mendel select pea plant for his experiments? v

Suggest measures to overcome the problems of an alcohohc
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